Phyeics : Section-A (Q. No. 1 to 35) J i_ :

Let a wire be suspended from the ceiling

(rigid support) and stretched by a weight ¥ |-
attached at its free end. The longitudinal |

stress at any point of cross-sectional area A
of the wire is :

(1) 2w/4
(3) w/24

2) wla
(4) Zero

2 The ratio of radius of gyration-e
sphere of mass M and _radi

own axis to the radilis ¢

thin hollow spher€ o

about its axisgis ;

KD 38 2) 5
B 2 4) 5

a SOMd

The eq itan
n in the following circuit is :

PATTERN

yste

4 A football player is moving, SOUthW
suddenly turns eastward with the $ase!speed
“toavoid an opponent. The force that acts o'n

) the player while turmng is : :
H ¢ ” r
(1) along eastward
ugd .
(@) along northward
(3) along horth-east
(_4) along south-west
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|~ sprim

> - =
.If cﬁE.-dS’:_o over a surface, then :

s K

(1) the number of ﬂux lines entering the
* surface must be equal to the number of
flux lines leaving it. -

(2) the magnitude of electric field on the
’ surface is constant.

3) all the charges must necessanly be
ms1de the surface.

the electnc field 1n51de the surface 1s
\ecessarily umform

rgy of a long spring when
s U. If the spring is
potential energy stored
« 4
i 16

T E I} meﬁlgailahxn';'h\eler bldoes not show any

deﬂectlon in the circuit shown, the value of

¥ ). 50Q
(4) 400Q

ry P L b

8" A 12 V 69‘W lamp is connected to the
secondary of a step down transformer, whose

ary:is’ connected to ac mains of 220 V.

Assurmn the transformer to be ideal, what -

is tile cun‘ent in the primary winding?

(1) .027A 1@ 2TA
¢ 37A . T @TTA
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A full wave rectlﬁer circuit consists of two
p-n junction diodes, a centre- -tapped-
transformer, capacitor and a load resistance.
‘Which of these components remove the ac
npple from the rectified output?

1 A centre-tapped transformer

) pn junction diodes

" *(3) Capacitor

(4) Load resistance

10 L1ght travels a dlstance x 1n t1me t1 in g

11

12

| “colour of t
(1) Red
- (3) Orangg ellow

~

.- Statement II :

_ medium. What is the critica
' medium" ;

o w3
. (3) Sin‘_l[l(: _1(1

Resistance of e bon resistor

o 8 9T

from colo

Green
—

Given below a ments

Statement I : ig d

convert optical, ra to el

Daec 1S O«
operate under reve

region.

In the light of the aboVe

the most appropriate ansy

" . options given below :

(1) Both Statement | and State o

are correct.

2) Both Statement I and Statement I

' are mcorrect

.. (3) Statement I is correct but

Statement II is incorrect.
(4) Statement I is incorrect but
Statement II is correct.
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. The magnetic energy, stored in an inductor .
.- of inductance 4 pH carrylng a current of 2 A
Y | JE e ; oy o

) 4us

(2) 4 mJ

(3) 8ml (@) 8ul

The angular acceleration of a body, moving

-along the circumference of a circle, is :

_(1) along the radius, away from centre

alorig=the radius towards the centre
angent to its position

P otatlon '

] iéncy of 50% -
) a temperature 327° C.
e ten e sinkuis'l: ;

) 2
)1 °

' 1, 1'!.""r"‘:||

Two bodies of mass m and 9m are placed at
1 distd Rl potential on
e li ere the
avitd erg, will be .

8¢
R

hicle ,a' ef§ half the distance w1th speed
and-the remaining distance with speed
. Its average speed is:

@,

@




1

* The amount of energy required to form a soap"

bubble of radius 2 cm from a soap solution
is nearly : (surface tension of soap solution
=003 Nml)

(1) 30.16x10™4J  (2) 5.06x1074J

(3) 3.01x1074J  (4) 50.1x1074J -

The minimum wavelength of X-rays

produced by an electron accelerated through

a potential difference of V volts is
proportional to:

1 v

O

The half lj dioa ce
20 minute uch ctivit
of sub to (l initia
valug? i

(1) 20 minte, | (2)] '40 mihtites:]

(3) 160 minutes (4) 80 minutes

Am al 5S (0.
(0.3+10.0€ 1 leng

. The maxin ble p
the measure densi

(1) 12%
(3) 1.6%

In a plane electromagnetic v

free space, the electric field CO

oscillates sinusoidally at a frequeney-o

2.0x10'°Hz and amplitude 48 vm'. Then the

amplitude of oscillating magnetic field is :

(Speed of light in free space =3 x 108 m s71)
(1) 1.6x107T

(3) 1.6x1077T

(2) 1.6x1078T
4) 1.6x107°T

E1_English |

The temperature of a gas is —50° C. To what
temperature the gas should be heated so that
the rms speed is increased by 3 times?

(1) 669° C (2) 3295°C
(3) 3097 K 4 223K

An ac source is connected to a capacitor C.
Due to decrease in its operating frequency :

(1) capacitive reactance decreases.

) displacement current increases.

splacement current decreases.
itive_reactance remains constant

&, slit experiment, two
elow:
is;moved away from
larseparation of the

_ pchromatic source
is replaced by another monochromatic source

o]f _la_régr :%v'ﬁpnkt_}x,:'tbe angular separation

arhents, choose

’~ options given

} and Statement IT
cment I'and Statement IT

s true but Statement II

statément I is false but Statement II
1S true.

In hydrogen spectrum, the shortest
wavelength in the Balmer series is 3. The
shortest wavelength in the Bracket series is :

(1) 22 (@) 4n
(3) 92 4 161

- [ Contd..




27

29

30

31

The work functions of Caesiuixm (Cs)

- potassium (K) and Sodium (Na) are 2.14 ev

230eV and 2.75eV respectively. If incident

electromagnetic radiation has an incident .

energy of 220eV, which of these
- photosensitive  surfaces may emit
photoelectrons? .

- (1), Cs only
(2) Both Na and K
(3) K only

 (4) Na only

The errors in the meas
due to unpredictable
temperature and vo

~ (4) Random ert

In a series LER cirl:illit;"!hl; Ed:[étahée ]i is

kHz
kHz

(1) 15.9 rad/s
(3) 1.59 rad/s

The venturi-meter
(1)  Huygen’s princip
. (2) Bernoulli’s principle
(3) The principle of parallel
(4) The principle of perpendicular

of fundamental

The ratio of frequencies

harmonic produced by an Open P!
of closed pipe having
@ 1:2
. @) 1:3
E1_English |

the same length is :
) 2: 1
“) e !

pe to that |

32

.(1)-8mC

~ An electric dipole is placed at an angle of -

30° with an electric field of intensity

2x1°NCL It experiences a torque equal to
- 4 N m. Calculate the magnitude of charge

on the dipole, if the dipole length is 2 cm.
(2) 6 mC ‘
(3) 4 mC (4) 2 mC

he magnitude and direction of the current
ingthe following circuit is ‘

|

0.2
) 0.5 A from 4 to B througt
GCLASSES

3) 5 Afrom 4'to B through £

1.5
any closed

ositive

Negative

llet is fired from a gun at the speed of
in the direction 30° above the
horizontal. The maximum height attained by

the bullet is (g=9.8m s, sin30°=0.5) :

(2) 2000 m
(4) 3000 m

(1) 2800 m
(3) 1000 m

f i Contd...




[ Physics : Section-B (Q. No. 36 to 50)

36 ~ Two thin lenses are of same focal lengths.
5 but one is convex and the other one is
concave. When' they are placed in contact

- with each éther the eqmvalenfc focal length 1

of the combmatron will be :

@ f/4
(4) Infinite

(1) Zero
-3 sz

37 The net impedance of circuit (as shown in
figure) will be :

) 0
T mH 03

any 220 V,50 B
(1) 1042Q
) 50

38 The x-t orapn
- harmonig¢/mr
acceleratio
-39

—4 3 cm 3 cm

.- The electric potentijalv(in L0

—

40 . A bullet from a gun is

fired on a rectangular

, ;WOOden block with velocity #- When bullet
. travels 24 cm through the block along its
| length horlzontally, velocity of bullet

- becomes 3 Then it further penetrates into

- the block in the same direction before
coming to rest exactly at the other end of
the block. The total length of the block is :

(1) 27 cm (2) 24cm
(3) 28 cm - 4 30cm
he “figure shown ‘here, what is the

ocal length of the combination
e that all layers are th1n)‘7

due to the dipole is (€y=permit
1 _

space and s =K):
o@s @@
3 G)“K @ (Y

E1_English ]

P (2) 4 B Y

0 01 0 0 0

01 1 0 1 1
1.0 1 1 0 1
3 4 B Y 4 4 B vy
0 0 1 0 0 o

0 1 0 0 1 o

" [ Contd...
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. . ) ' . 3
. of gravitation, the quantity 'G%

 4ms

) 56m
(3) 64m

A honZOntal brldge is built across a river.

A student standing on the bridge throws a |
| small ball vert;cally upwards with a velocity

1 The ball _stt'ikés the wéter sﬁrface

after 4s. The, height of bridge above water |

surface is (Take g=10ms~2) :
" (2) 60m
4) 68m

10 resistors, each of resi

connected in series to

ing a current s a.longﬂj Js
; ‘ agne

ept in 3

€ M3

the magnetic fof n the
M 3IL i

@) SIL

represents :

o
@ T

Q) T
&) 77

El_English' ]

RO 12ms™

4 (3) 159A

" Calculate the maximum acceleration of a

moving car so that a body lying on the floor
of the car remains stationary. The coefficient
of static friction between the body and the

floor is 0.15 (g—lOms 2),

) 150ms'2

®) 1sms? @ soms?

 The resistance of platinum wire at 0°C is

20 and 6.8Q at 80°C. The temperature
oefii ent of resistance of the wire is :
oC-1 (2) 3x10-3 oC1
=T (4) 3_><,10‘1 oc-1

s orbit of hydfogen
t'is the radius of
gtom‘?

4) 477A

]ﬁalf:ﬁ

~ A very long conducting wire is bent in a

ml_c c hOWIl m
e. point P for
given by :

| ¥

a

'

el

dy C

ed~into the page -.
l . : .
_QR- pointed away from the page

_I_Eil pointed away from page

PN 2 ) & s E >
=5l 1-;] pointed into. the page
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Chemistry : Section-A (Q. No. 51 to 85) J

El_‘English' ]

- Which of the followmg reactions will NOT
& glve pnma.ry amine as the product?

" (1) CH, CONH, MH_) Produ{;}j

@) CH3CN “A—’E:?)Lamg{e Product (U\'}

3) CH3NC%’§—>Product :;%

(1) LiAIH

Match List-Iwi 'i
List-1-

A. Coke

B. Dianion

C.. Fu

D.

Choose the correct answer from the oﬂﬁans .

e b 1T RN o

(D A-IL, B-IV, C-I, D-III
)| AskViB , D-[i
oLy v, D-

@A L, D-

,,'Give b

labelleg

labelleda

Assertiom A™

liquid amme

which is paramagt

Reasons R : Thé.dee

to the formation of amide

In the light of the above Statements,
the correct answer from the optio '. e
below :

1) BothAandRaretrueandRmhe'

correct explanation of A.
+(2) . Both A and R are true but R is @)T
' the correct explanation of A.
(3) A is true but R is false. .m
(4) A is false but R is true. .

In Lassaigne’s extract of an organi
compound, both nitrogen and sulphur a
_present, which gives blood red colour with
‘Fe3+ due to the formatlon of -

[O8 Fe, [Fe(cN) 6]3 . xH,0

(2) NaSCN

3) [F?(CN)S Nbs]“’

(S

e cell containing the solution
hm e value of cell constant

28 cm-1

(3) 1 6. cm.‘1 (4) 3134 cm™! .|

atements : one is
A jand the other is

L
um extra amount of
reactant molecules so

,(1) Both A and R are true and R is the

correct explanation of A.

(2) Both A and R are true and R is'NOT -

the correct explanation of A.
(3) A is true but R is false,
(4) A is false but R is true.




Which 0;13 is an example of heterogenous‘ 60mG1ven below are- two statements ‘one is
catalysis? | mlabelled as Assertion A and the other is
(1) Oxidation of sulphur dlomde into sulphur | Nlabelled as Reason R :
mgx;erzl in the presence of ox1des of ‘ mAssertlon A : Hehum is used to dilute
~ nitro oxygen in diving apparatus.
2) Hydrolysis of sugar catalysed by H* (“JReasons R : Helium has high solubility
. ions. ‘ '(:aln 02

3) Decomposition of ozone in presence of’ O1n the light of the above statements, choose
nitrogen monoxide. : the correct answer from the options glven

(4) Combination between dinitrogen and
dihydrogen to form ammonia in_the
_presence of finely divided jra

below : o
‘{w}l BothAandRaretrueandesthe.-
. Corect explanatlon of A, "

RaretrueandesNOT
explanation of A.

CH=CH-CH-CH, 2 X ' false.
| i ‘ s ‘true.

e ‘ : pe med by’ two. elements

' Lo f i | ind E it B forms cubic close -

is an example ¢ A cked | atoms of A occupy '

(1) benzyli¢ & - : /3 of el formula of

@) aryl halide | e o , } volug of
i ‘ - Mwix +y is in option - - |

* The given compound .

(3) allylic ha11d y \L T .[,. :H Hl N(ll{ 5] A S IL._,(2| ;4:-.j

| -Identify the pre¢ lowi iven tsf: |
) taten d by the

sohnl sition of sugar
O 1 C
ent 1 i leoside is linked

'#position of sugar -

-
N2C1 a

leotide. :
gbove statements, choose

“(1')" SE I answer from the options given
e s e TR sk wt 0 ‘ - 1y~ Both Statement I-and Statement II

LB
oy are true..
L (2) Both Statement I and Statement II
1 o . .are false. . . ..,
_ .(3.) Statement I is. true but Statement II
o) is false. ;
(4) Statement I is false but Statement I
- s true - \ :

OH

E1_Engjish | -+ [ Contd...
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63 The relation between n,, (n,, = the number |

of permissible values of magnetic quantum

number (m)) for a given value of azimuthal

- quantum number (J), is
@ I=2n_+1
3) np=2%+1 (4 n,=1+2

Amongst the follewing, the totz
species NOT having eight elect
central atom in its.Oute

NiH,, AIC,, Be

@ 3.
3 4

(n' 2p, - 2py)~< c2p, i< e’ 2p,

The number of ¢ bonds, T bonds and lone
pair of electrons in pyridine, respectlvely are:

W 1,20, @ 1230 '

E1_English ]

Intermolecular forces are forces of attraction
and repulsion between mteractmg partlcles
that will include :

A. dipole - dipole forces.
' dipole - induced d1pole forces.
hydrogen bondlng
covalent bonding.
i’ dlsperswn forces.

hoose the most appropriate answer ﬁom
options given below :
Dy E are correct.
.D"are correct.
, Brarecorrect.
E are, correct.
68 s tem'ents are NOTA
- correct? ' ‘ '

] A 1"Hy"3rog n Is usfélll to reduce heavy metal
oxides to metals.

dto st‘udy feactidn

ased to'make saturated fats
1 ‘I d dissociation enthalpy is

ompared to a single bond
two atoms of any element.

ydrogen reduces oxides of metals that
€ more active than iron.

Choose the most approprlate answer from
the options given below :

(1) B,C,D,E only
(2) B, D-only

(3) D, E only

(4) A, B, Conly

y oy
"




9 - Which amongst the following molecules on. 73 " Consider the fdllowmg reactlon and identlfy

- polymerization produces neoprene? .

Cl

- |
(2) H,C=C-CH=CH,

(3) H,C=CH-C=CH
CH,

| | 9
4 H,C=C-CH=CH,

Some tranquilizers are listed*be
one from the follo
~ barbiturates?
" (1) Chlordiazepoxid
(2) Meprobamatg
(3) Valium
(4) Veronal

71" The element £ ,
achieve the pearest noble gas configuration
s ¥ L
%o | PATTERN
3 N 1

Select the co
following :

same chemical pro
Protons and electrons &
known as nucleons.
.- Dalton’s atomic theory, regarded the-
~ atom as an ultimate particle of matter.
Choose the correct answer from the options
- given below :
(1) A,Band Conly
(@ C,Dand Eonly
) Aand Eonly
4) B, C and E only

El._English ]

= "'the product @); s Sizviiens
(1) H)C=CH-CH=CH, . |

e N Uy
B —m—> Product (P
CH,; OH , oduct (P)

B Methylbutan—' 2-ol

il
(1) CH, —cl:—CH2 - CH,

ody is estlmated to be

(2) All enzymes that utilise ATP in
phosphate transfer require Ca as the
~ cofactor. '
(3) The bone in human body is an mert
and unchanging substance.
(4) Mg plays roles in neuromuscular
function and interneuronal transmission.

[ Contd...




79  Taking stability as the factor, which one of

compound, which is obtained by heating the ~following . yepresents . cOTrect
sodium ethanoate with sodium hydroxide in relationship? |
presence of calcium oxide is : - (1) TICl; > TIC1

(1) 16 o .
(3) 30 4) 18 ' (2) Inly > In
(3) AICI > AICl;

76  Weight (g) of two moles of ‘the organic

Amongst the given options which of the (4) TI > Tl
following molecules /ion acts as a Lewis -
acid? % ‘ '

(1) NH3 leptic complex from the following

(3) BF3 sis:

i trioxalatoaluminate (III) . .
Identify it oo o
N - " € )Ol’l onitrito - -

O bonatocobalt (IIT)

hromium (III)

OH

1

j- r1rE1fn—5§ | | -;vf.: - g -!;.._ 2
] I.!IIL [ eone. ,%)+2H20_; :-"81"' ’ Cbkn;;'ét}fhj foﬁ?)'wing reaction :

(B] - f
conc.j H2804A :
A & [C]

R

' E1_English |




| Whlch amongst the following options is

correct graphical representation of Boyle s |

Law?

l‘I ATTE H"‘J

>T1

83 The fight_ option for the mass of CO,
produced by heating 20 g of 20% pure
limestone is (Atomic mass of Ca=40)

[ caco, —@%-»cwﬁ»coz]

W 112g @ 176
(3) 264g @) 132g

or a certain reaction, the rate = k[A]*[B],

he ifiitial concentration of A is tripled
ation of B constant, the

orof nine..
ctoriof six.

LOT O €.

85 elo o [statements! : one is
‘ labelTe ‘Sﬂ% % F ‘ﬂ:'n

ssertlon and the other is
abelle

ssertl -nFE

ue o B
ns } enbive property
s an exten p'perty,

pve’statements, choose:
er_ffom the options given:

)_Be AandRaretniea‘ndRisthe
correct explanation of A.

(2) Both A and R are true and R is NOT
the correct explanation of A.

(3) A s true but R is false.
(4) A is false but R is true.




L Chemistry : Section-B (Q. No. 86 to 100) _J
86 Match'List-Fwith List- 1L = - |

|88 ~Which complex compOund is mosf stablé?

List- I (Oxoacids  List-II (Bonds) | ° el

" of Sﬁlpi(lur) aud‘f ' Llsf S . (1) [CO(NHs) (HzO)Br](Noa)

A. Peroxodisul- 1. TwoS-OH,FourS=0,
phuric acid One S-O-S o

B. Sulphuricacid II. Two S-OH, One S=O‘

C. Pyrosulphuric III. Two S-OH, Four S=0,. |

acid One $<0-0- - 1) [co(ney), ] o(s04),

D. Sulphurous acid IV. Twol : | i o TN

@ [C°(NH3) (No,), ]

(3) [CoCl,(en), | NO,

Choose the coprec . | -
given below e following compounds/species:

é((:;l Rlcl)ifEtS thllptWiTg t _t_?te_t: %1ts are‘;’ P

‘All the transition metals except

t‘..

f ¢ poundé/species which
gis - .

Basie,c
»V204, Q V

@ 6

V,0, dissolves 4 5-

:  salts. : _ ' |
E. CrO is basic but Cr,O; iS"ampho eric.. i3

What ﬁ'actlon of one edge centred octahedral
Choose the correct answer from the °pt1°ns | void lies in one unit cell of fec? :
given below : , "

(1) A and E only , (1) 1
2) B and D only ey 2
3) C and Donly 41 1

o 3) @ =
(4)BandConly' | ' ‘= E 12

E1_English |




Which amongst the following options is the
correct relation between change in enthalpy
and change in internal energy? -

91

) AHf—-AU.—AngB;T,
2. AH AU+An RT

'(3) AH AU=-AnRT

a7

“PAT T E RN N

,'8, l —

and 6 mol L‘1 resp
for the reaction is (R

(1) 137260 cal () - 13%

(3) = 1381 80 cal (4) - 13 73 cal

<.rr

- Pumlce stone 1s an examme of -

® sol (2) gel

95 Identify thé hlajor- product obtained in the

following reaction :

3-OH _4, major product

(3) solid sol o : '(_4)V,Af°am: |
CElEnglsh) |, i

E) (O

96 Idenflfy the ﬁfiZl h;' (lui:thﬂ)] o tamed in

ne fO OWINg on

€)) C4H10

(%) HC=C®Na*




97 Which amongst the following will be most | 99 Consider the fOllOWin,g'nreaCt’ion g ’_
readily dehydrated under acidic conditions ? | « . o ™

~ No, OH . g o RIS Rt KR,

H $

OH OH. | ‘Identify produdts A and B.

e H3C/IL\)\ o : ey B sy

NO, °
H

_<3)  ‘( - A

‘@ .
| PATTERN:
98 C o statémentsd

St ate nut
o bo a1€s Ophi

. Statem S utro] ) g m‘
decrease el of TR ¥ o ¥
bodies. i that dogs NOT take placeginya
In the light'g repieen; 900 Ko, 108K

range during extraction of gn

the correct ahs

_below: , : Ll ey

(1) Both Statement .'--c <
are true. : :

" Fe,0, + CO —> 2Fe0 + CO,

(2) Both Statement I and Statement II e R LR
" are false. ' ' e FeO+CO > Fe+CO, -
(3) Statement I is correct but : ot e

Statement II is false. - : : C+C0O,—>2CO

(4) Statement I is incorrect but | . ‘ o o
Statement II is true. T 1 Al A% SI0,-5 0oty

She.
L

E1. English | o 1 ' | & [Contd..
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Botany : Section-A (Q. No. 101 t0 135) |

101 Given below are two statements :
label
labelled as Reason R :

Assertion A : The first stage of gamietophyte

One is

 in the life cycle of moss is protonefiia stage. -
Reason R : Protonema develowirectly

from spores produced in capsule

In the light of the above Statemeréichoose

the most appropriate answer

options given below :

(1) Both A and R a
correct explanation of A.

(2) Both A and R are correct but R is.
the correct explanation of A

 (3) A is correct but R is n@
(4) A is not correct but'R.i

Nepng

(4
Mo

S,

an

102 In angiosperm, the
triploid structures of af
sequentially are i -
(1) Synergids,/Px
~ and zygote
- (2) Antipodal
. endospg
(3) Synergid
. endosperm nucleus
'(4) Synergids, qlitipgieal'sf hﬁf"P
10} Movement! and accumulation of iens across
a membrane i ir coneentratio
gradient can 1 by
(1) Osmosis :
(2) Facilitated
(3) Passive Tra
(4) Active Trans
104 Large, colourful, 'frag owers with1
-/ are seen in :
-~ (1) insect pollinated, pl
(2) bird pollinated plant
(3) bat pollinated plants
(4) wind pollinated plants -
105 The phenomenon of pleiotropism refe
(1) presence of several alleles gﬁa single
- gene controlling a single crossover.
(2) presence of two alleles, each-6f the two
. genes controlling a single tfai
- (3) a single gene affecti
phenotypic expression. ¢
(4) more than two genes affectingsa single
El_Eng]jsh ]

led as Assertion A and the other is

m the

R are correct andiR is the

Pl

to .

ng'.gaultiple |

17

1

106 Which hormone promotes intemode-/petiole ‘

~elongation in deep water rice?
(1) GA4 (2) Kinetin
(3) Ethylene =~ (4) 2,4-D -

07 Among ‘The Evil Quartet’, which one is
d considered the most important cause driving
extinction of species?! . '
- (1) Habitat loss and fragmentation
(2) Over exploitation for economic gain
(3) Alien species invasions

Co-extinctions .

4 ]

ufe, to UV-vradiatioﬁ, DNA |
aidinm bromide will show

O

edifor splitting
tosynthesis?
denum Sk

* coppe

:.i‘g oIJSe:\:%d in
mber and Pri

ose

) m
(3) magnesium

A

3 4 TR O I-' . J :,:.»_‘. ‘.. i
110 Axile lacbﬁta’;ihgn
1) '

) C

emon
rgcombination
gub stage of
'Pachytene

4) Diakinesis 5
re in’PS II has an absorption

; (2) 700 nm
_ __‘(,4) 780 nm

680 nun
660 nm

113 Unequivocal proof that DNA is the genetic
" material was first proposed by
(1) Frederick Griffith- .
(2) Alfred Hershey and Martha Chase
(3) Avery, Macleoid and McCarthy
(4) ‘Wilkins and Franklin

1

.. [ Contd...



- adinaiiod S,
SRS o

ffers from Solanaceae and

- 114 Amon eukaryotes, re llcatlon of DNA takes | 119 Fanﬁly‘Fabaceae di

. place ﬁl - i ‘ Liliaceae. With respect t0 the stamens, pick
(1) M phase (2) S phase - - out the characteristics specific to family
(3) Gyphase (4 G, phase |  Fabaceae but not found in Solanaceae or

115 In tissue culture e i L]+ * © iR
issue c xperiments, leaf mesop ' dhers

cells are put in a culture medium to form @) Dladelphous and D1thecous =
callus. This pl}enomenon may be called as - | @ Polyadelphous and epipetalous stamens
(1) Differentiation » : : ’ (3) Monoadelphous. and Monothecous
(2) Dedifferentiation . +., Srftvans

(3) Development

(4) Senescence iphyllous and D1thecous anthers

116 Cellulose ¢ 5 nce Tags (ESTs) refers to

{T)iinlet: o : are expressed as RNA.
@ Wi mol . , eXpressed as proteins.
(3) fItd tain ices ! hether expressed or

hold
= , prcssed genes.

117 in; a{ th ([g ﬁgjlow1ng
o] ytoh rmon ju em e conifers*helps in
astening the maturity period, that leads to

ion?
ric A¢ T
cid - praa c nutrients go
A and' get precipitated

18 Give # ed leaching.
_ € ’ , . us fogd chain begins with
break down detritus info -
particles by a process called

tabolism.

hents :

21 Ide the co statern
E _ ] nﬁ)f:.t?lv:‘rﬁes pecr%(;'nn frlagmehtation .
: ' i r degraded by some
rahzatlon

evaporative cooling:

In the light of the above'stal 00s€ the correct answer from the options

the most appropriate answer fre | “given below :

options given below : : : ‘(1) A,B,Conly (2

(1) Both Statement I and Statement II 3 ¥ @ B, C,D only

~ are correct. 3 CD,E only 4)-D,E, A only

(2) Both Statement I and Statement I -

_ are incorrect. v 122 Th in

() SeitemestT 35 ceace bt , / thee: :l;:imehss of ozone in a column of a}f
Statement II is incorrect, . sphere is measured in terms ©

-4 Statement I is incorrect but . i @) ‘Dobson umts 2) De01bels ,
tatement II is correct ‘ (3) Decameter
E1 Engllsh] e 18 -
' : : [ Contd"‘




iven below are two statements : One is
/labelled as Assertion A ‘and the other is
_ labelled as Reason R : ,
_ Assertion A : Late wood has fewer xylary
elements with narrow vessels.
Reason R : Camblum is less active in,

'123;

%

' winters.
" In the light of the above statements, choose

_the correct answer from the options given
below : '

L) BothAandRaretrueande
correct explanation of A.
(2) Both A and R are trye
the correct explanatic

124

125

(1) 198 |
@) 1986

126 ‘How many /

(1), 12 ATP and
@) 18 ATP and

127 In the equation
- GPP is Gross Primary Productivity
NPP is Net Primary Product1v1ty

iy

" R here is |

(M) Photosynthetrcally active radlatlon
(2) Respiratory quotxent ;

(3) Respiratory loss =

(4) Reproductive allocation -

E1_English |

129

128 During - the puriﬁoati'on process - forv
recomblnant DNA technology, addition of

k(l) RNA
(3) ‘H1st,ones

4 Bolyéaccharides.

1

(o-— e

What is the role of &A polymerase I in
the process of transcrllpuon in Eukaryotes?

(1) Transcnptlon of- rRNAs (288 18S and

(2). To trap pollen grains

(3( Te dls}ers"a ';'llel gn'a‘ms 4

erosporous

gene.guf
DNA into host cells, mlcropartlcles of
metal are used

p(l) Copper ,

@) Zine
3) Tungsten or gold
“) Sllver & fie

[ Contd...
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133
" terms often used for describing the position

~of secondary xylem in the plant body.
~ Statement II : Exarch condition is the most

134.

135

ElEnglsh] e J5i

~Given below are two statements :

(2) Both Statement I and S

(3) Statement I i

glycolysis.

Statement I : Endarch and exarch are the

common feature of the root system.

In the light of the above statements, choose

the correct answer from the options given

below: - o ‘

(1) Both Statement I and Statement II
are true. . ‘ :

- are false.

ome,

0 Lﬁ%ﬂtﬁm H h'"'!

| ed Sturtevant

Reason R :

phosphate into fructos

In the light of the above sta |

the correct answer from the options

below : ! -

(1) Both A and R are true and R is the
correct explanation of A.

(2) Both A and R are true but R is NOT
the correct explanation of A. -

(3) A is true but R is false. |

(4). A is false but R is true.

[ Botany : Section-B (Q. No. 136 to 1soD

136 Which one of the following statements i
NOT correct? ) )
(1) The micro-organisms.lnvolveq in
/ biodegradation of organic matier in a
sewage polluted water body consume a
lot of oxygen causing the death of
aquatic organisms.
(2) Algal blooms caused by excess of
organic matter in water 1mprove water
quality and promote fisheries. .
(3) Water hyacinth grows abundantly in
eutrophic water bodies and leads to an
imbalance in the ecosystem dynamics
of the water body.
amount of some toxic substances
strial waste water increases in
isms at successive trophic

!

first described by
angaon Dow .oc
Such..an. individual | has overall
; m%,sgﬁ'hnhd glc‘}(n-n’ent. However, the
feminine development is also expressed. -
Che affected individual is short statured.
and mental

List II
Citrate
synthase
II. Pyruvate
s , 'dZ}rI;drogenase
. Oxidative III. Electron
phosphorylation transport syster™
D. Tricarboxylic =~ Iy, EMP pathway
acid cycle ’

: ions
Choose the correct answer from the 0Pto™

given below :

(1) A-II, B-1V, C-II, D-I

(2) A-II, B-1V, C-1, D-II

(3) A-II, B-I, C-IL D-IV
 (4) A-IL, B-IV, C-III, D-I

[ Contdou




140  Given below are t\-zvo Statementg -

labelled as Assertion
labelled as Reason R .
Assertion A : A flower i def'ined-as modiﬁéd

shoot wherein the shoot apji,
apical i
changes to floral meristem.'p merllstem

1

- instead of leaves,

.. In the light of the abov
‘the correct answer fro
-below :

(1) BOth A and R are true .and .R
~ correct explanation of .4
(2) Both A and R are
the correct explana
(3) A s true but R j

(4) A is false but ¥

€ statements, choose
m the options given

0 of A.

Given below are two sta ements : One is.

.labelled as Reason

1 , ’ NADP
label o A o
abelled as As ertu;In:AI_ "ff’qjtlfe[ OP?r is Nﬂ4 Melonaﬁ?illﬁiti'i:{"s the

. perm

fro

air ¢

7 the

oonia
arged and polle;

Assertion A
- pollen grains'a
-microsporangium, 2
| Reasgin R : Air ¢
grains to the mouth'o
the male gametes are'di
tube is not formed.
In the light of the above statef
the correct answer from the ‘@ .,'
below_f: ' :
(1) Both A and R are true and R is
- correct explanation of A. o
(2) Both A and R are true but R is NOT
 the correct explanation of A.

®) A s trye but R is false.
@ Ais false but R is true. .

R - o
1\El]glis h ]

142 Match List I with List II :
- ListI List IT
A. Cohesion More attraction in
liquid phase
Mutual attraction
among water
~ molecules
IIl. 'Water loss in
liquid phase
IV. Attraction towards
polar surfaces
Choose the correct answer from the options
given below :
A-1I, B-IV, C-I, D-III
A-IVB-II], C-II, D-I
3 , D-II
D-]11
g eombinations is
9 .

L

B. Adhesion II

C. Surface
‘tension

D. Guttation

in

pton
oton,
TP g

broton " pump, electron gradient, |

RS S S

growth of pathagenic
e . - f :

are e .} openings

g of gases.
teSeason is called

eria b
Succi
yla
ipase
Nitrog

he c¢

1ucal term that refers to
or to vascular cambium.
to penderm and secondary

S CX1¢e
| r - '
oem.

E.  Phellogen is single-layered in thickness.
* Choose the correct answer from the options
~ given below : ‘ ;

) B,Cand E only
(2) A and D only
" (3) A,Band D only
(4) B and C only

Al

[ antd...




146 Match Llst I \mth List II :
List I ~ - List II
Y Phase "L Proteins are
‘ synthesized
Inaetive phase
Qulescen§ . Interval between'

stage - k&

DI
D-m —
RN
D- 111__

ist I v

Lis
~ (Spe

. Amensalism

. vParasmsm :

S Choose the correct answer from the options

, given below :
(1) A- IV, B-II, C-I, D-IIT -
(2) A-IV, B-L, C-IL, D-Il
‘(3) ALV, BIL CL, DT
(4)- A-II, B-1, C-IV, D-II .

" E1_English |

‘Given below are two ‘statementsii

' Exclusion Pnnmple states |
,related specles competlng or the same

) I'CSOUI'CCS cannot co-exist

3 toergfad, "’.‘
3 Y >z,

€ g

Gause’s -“Competitive

I:
Statement that two: closely

uidefimtely and
competitively inferior bne wﬂl be ehmmated

~ eventually. : oE

Statement II : In general carmvores are

e more. adversely affected by competition than
 herbivores.

In the light of the above statements ‘choose
the rrect answer from the optlons given

: ement I and Statement 1I

mer t 1 and Statement 1I
correct-but
ajse.: " - te 3
cotrect but:
C.

s =1 [ | SRR
. Synthesis of auxin
‘Component of
nitrate reductase
tivator of catalase
ell elonigation and
fferentiation
; er/from the options

A. ||—;ﬂ#

In the formation of Recombinant
S given below Arrange these stePs
4 comrrect sequence. . . '
Insertion of recombmant DNA into thc
host cell.
Cutting of DNA at spec1ﬁc Jocation by
restriction enzyme. -
. Isolation of desired DNA: ‘Erag,mcnt
" l:i&(rjnlghﬁcatmn of gene of mterest using

- Choose the correct, answer frox;n the Opﬁons

given below :
() B,C,D,A (2 CAB,D

) B DA (4)BDAC

e [’*Contd‘...
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' ;'-'

[ Zoology Sectlon-A (Q No 151 to 185) 7

| lsydatch List 1. WLth Llst IL. u
A ListI - e List II
' A', ,Vasectomy L Oral method
B. Coitus* ¢ .II.‘ ,Bamel‘ méthod
- mterruptus
C.

- '._Choose the correct answer from the optlons
- given below:

152 Given below are ¢
_/Statement I: V;

. In the hgh‘_of tt‘e'labqge" Ftatqhe ts

15}/ Wlnch ofthe followmg statéter

@ Blomagmﬁcatlon refers to increase in

Cervical caps L Surglcal method
D. Sahell IV Natural method

(1) AL BL, CAIV, DI -

!
“

’

42) A-IIL, B-IV, C-IL, D-I'
(3) AL B CL, DAV
(4) AV, B, C, DI

from seminal

~ the corre answer from the op ons given
~ below: —_—
(1) Both $t o Sta
are -
(2) Both

(1) Eutrophlcatlon refers to 11iC
1domest;c sewage and waste water in
‘_ lakes.

Aconcentratmn of the tox1cant at
successive trophic: leve’ls

(3) Presence of large amount of nutnentS'. :

in water restncts ‘Algal Bloom’

(4) Algal Bloom decreases ﬁsh mortalﬁlty -
| E1 English ] "': - .j_;’-.-‘_i 23

oo'sel. |

154

,,'('3),_

155

‘Whlch one of the followmg symbols‘
represents mating between relatlves in
human pedigree analysm?

O 0—0 © 3—0

@ l.‘

Whlch one of the followmg common
sexually transmitted diseases is completely

_ curable when detected early and treated

r1‘7

Al erpes (2) Gonorrhoea
i (4) HIV Infection

t II.

Cular system _
‘body function

ransport of

the options A' '

glven below: '
1) AlLL ,.GI?HDIIHH |

0 A-I BH CIII D-IV :
3).
) A
atch

st 1
pe of,
arti

*' -' ween)

veen flat
skull bones
Between adjacent
vertebrae in
vertebral column

Jo nt~III. Between carpal
K E and metacarpal of
=T . . thumb
D. Saddle Joint IV. Between
et i ssiee . Humerus and

Pectoral girdle -

o Choose the correct answer from the options
~ given below: .

(1) AL B-L, C-IL, DIV |
2) AL B-IV, C-I. DIl

(3) AL B-IV, CIIL, D-IT

(4) A-IL, B-IV, CIII, DI -

[ Contd...



: 10 EE jst T with Llst I
158 Given below are two statements: 1) 161 Matclli.:; i List 11
Statement-I: A protein is imagined as gline, | " i [. Kidney
the left end represented by first amin id A. CCK . . L Heat -
(C-terrmnal) and the right end repre;% -..B.. *GIP ° 4 s ol
by last amino acid (N-terminal) _ C. ANF 1. Gastric glan
Statement II: Adult human haemogmln,: D. ADH oIV, - Pancreas

159

~ In the light of the above statements,
- the correct answer from the options iven
e

@
B

-~-A. Mlitochondria B.

consists of 4 subunits (two subunits 8% O
type and two subunits of B type.)

00S€

below:
(1) Both Statement I
are true.

Both Statement
are false.
Statemen
is false.
Stateme
is true.

‘Which/'of
as the' pz mbr:
Endoplasmi

ic,
I
C. hlorolplasts
E. Pere
Choose
the optic
(1) Blan
@) A,
(3) A and
@ A, Dia

Op i
DW:

160' Given belowsare

El_English |

o)
TR,
NC)
@

Statement I: A
Statement I1: V1
and shorter hfe spa
faster. i

“In the light of the above statert NeOSe
the correct answer from the optlonS en.
below: : J

Both Statement I and Statementﬁ’l
are true. . AN

Both Statement I d S
are false, ‘and Statement H

Statement L is true but: Stateme%?ll
is false.'-

Statement I false but Statement 1I
is true.

3D |

Choose the correct answer from the optlons
- given below: 3

Cdi 1nte§rat10n of endometri im.
the
the correet answer from ,

(1

(2

“Filariasis
£ Malaria
- D<Pneumonia
_ Choose the correct ans
7 ’-‘glven below: -
(1) AL, B-III, C-IV D-I
@ AL B-IIL, ¢

(3) A, B-II e

10

(1) ALV, B-111, C-1I, DI

AL, B-IL, C-IV, D-1
A-115 -IV C"I D_III
351 C-III D I

e wo statements one is
tion A and the other is

trium is necessary for

nce of fertlhzatlon, y
yetates that causes

g]i:fi-ok'th above sta

,ements choose
optlons glven

eandesthe

1 List IT. -
List IT
orm 1L —"Haemophilus influenzae
1. Trichophyton

L. Wuchereria bancroffti
IV Plasmodium vivax
wer from the option .

-I, D-Iv

I, DIV
A-III B-H C'M DT‘I :

[ Contd-
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164 Given below are two statements‘:‘ o

- Statement I: Low temperature preserves the
enzyme in a temporarily inactive  state
whereas high temperature destroys enzymatic
activity because protems are denatured by

heat.

~ Statement II: When the 1nh1b1tor closely L
resembles the substrate in its molecular | C\‘j]
structure and inhibits the activity of the |
enzyme, it is known as competitive inhibitor, |

~ In the light of the above statements, choese

.- the correct answer from the opiions.g

. below:
(1) Both Statement T arid
W P A0S Tl
" (2) Both Stateme Jand,Statem
s are false. ;' -'
~ (3) Statement [ ig State
U is false. [ o
. (4). Statemeng ] Stat
Ll is true. 1
165 [ ER
- List I . LlstII -
A. Taenia | idia
B. Paramoegii ractil
C. - Periplaneta e cel
D. Pheretima ose g

Choose the corréct ¢ om
give below:
(1) A-1, B-II, C-IIL*D
2) A-1, B-II, C-IV, D
- (3) A-IL B-IL C-1V, D-
.k(4) A- 11, B-L, CIV D-III

166 Which one of the following techniques does—|_
; / not serve. the purpose of early diagnosis of |  L{F

‘a disease for: its early treatment?
1) Recombmant DNA Technology
.'(2) ‘Serum and Urine analysis

3

-y

)
kg

(3) Polymerase Cham Reactlon (PCR) 1 L{'§3)

technique

(4) Enzyme Linked Immuno-Sorbent Assay ;34)

(ELISA) technique

E1_English ]

N

2
25 ©

_ T . (V) EA‘nI Bu.,.lcﬁg,mrr =

) uf(z.) A-III, B-1V,

167 Match List I with List IL.

L ListI. . ListIl
(Interacting - (Nameof
species) ' Interaction)

t“g:"(ésLeopard anda I/ :Competiti'on

. Lionin aforest/ = '
.grassiand '

8 A Cuckoo laying }I/ Brood B
' s nest parasmsm

~ III. Mutualism

*n be
- A-LB-II, C-HIL L

L

A-l

¥

statements, choose
om the option§ given

oth Statement I- and Statement II
" are true..

Both Statement I and Statement II
are false.

Statement I is true but Statement II
- is false. ..

Statement Iis false but Statement I

is true. T

. [ Contd..
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169 leen below arée two statements: .

Statement I: In prokaryotes, the positively |

charged DNA is held with some negative’ly
_ charged proteins in a region called nucleoid. |

Statement IT: In eukaryotes, the negatively |
‘charged DNA is wrapped around the |

positively charged histone octamer to form
nucleosome. ‘

In the light of the above statements choose |
the correct answer from the optlons given |

below:
(1) Both Statement T and’
A are true. S
(2) Both Statement
~ are false
(3) 'State Mer
Stat ¢
e (4) Staten
1S

Mat List I W1th Llst II w1th resezpt to ! |

1ms eyel] l|||. 1.)r|.- : I ] Ia o1
List]I . ListIl . =
A. Foveal sible gol¢
eyetl
atnet
erna
rmed
nnect -

%P0
5 le v
photorecéptor cells

are absent
Choose the correct answer
" given below:

(1) A, B-I, C-IV D-II -

(2) A1V, B-I11, C-Il, D1 ;
(3) A B-IV CIL DI - -
©(4) A-LL B-I C-III DAV N e

El Engllsh 1

frorn the options |

; 2 oo
.‘..‘

171 Select’ the eorrect groap/set of Australia,

Marsupials exhibiting adaptlve l‘adlatlon,
Tasinanian ‘wolf, Bdbcat
¥ M sulalmole.( \L' : flx
Ns:nbapt Spotted cuscus,
" Flying phalanger .
) Mole, Flying sqmrrel 5
" Tasmanian tlger cat -
Lemur, Anteater, Wolf

i Y

Whlch of the followmg statements are

e ~correct regardmg female reproductive cycle?
ron-primate - mammals cyclical

dunng reproductlon are called

tF 3 TR

.. : cycle begms at puberty

(1) A‘an

|:<2; 1@

B C

List.on: - %
"¢ List II Mo o
] ‘Beglnmng OfSYStOIC
- ‘Repolarisation of
ventricles
Depolarisation of atria -
Depolarisation of
B . ‘ventricles. .
; gll‘llzgsle)e tiae v:oreeet answer from the options

BIRN- '(2) A- : V_I C IV D‘H: 3

T QRS éomisi‘e;; .
D T—wave N




175 Given. below are two statements: _one is
- labelled as Assertion A and the cfher
labelled as Reason R.

Assertion A: Amniocentesis for sex |

~ determination is one of the strategies of
Reproductive and Child Health Care
- Programme. ' ‘

Reason R: Ban on amniocentesis . checks :

increasing menace of female foeticide.

* - 'Ini the light of the above statements, choose |

| the other is ;

178 Match List I with List II.
oo Lstl o Lism
. (Cells) ~(Secretion)
. A Pepticcells I Mucus
- B. Gobletcells II. Bile juice
C. Oxyntic cells III. Proenzyme pepsinogen -
' D. Hepatic cells IV. HCl and intrinsic factor
' for absorption of
“vitamin B,

.+ "'the correct answer from the’ optior
(1) Both A and R are triies
.. correct explanati i
(2) Both A and
-+ the correct
. (3) Ais true
@ Alsfal

176. Once -the fu TS

(3) -Gastrol-

\

177 Match List I wi
List I S W
A. Genefa> . .

.IV. .Repressor protei

. . Choose the correct answer from the options |

given below: N

(1) AL B-L C-IV, DT
(2) AL B-IL C-IV, D-I.
(3) AL B-IV, CLD-IL ¥
(4 AL BL CIV,DI

El__English |

/el AT PERR]

" -Choose the correct answer from the options

ect answer from the options given
below: ) _ g
., (1) Both A and R are true and R is the
' correct explanation of A.
(2) Both A and R are true but R is NOT
- the correct explanation of A.
(3) Ais true but R is false.
(4) Ais false but R is true.

[ Contd...




181 Given below are two statements:

18

K4

Statement I: Electrostatic precipitator is
most widely used in thermal power plant.

‘Statement II: Electrostatic precipitator in
thermal power plant removes ionising |

radiations

In the light of the above statements, choose .

the most appropriate answer from the
options given below:
(1) Both Statement I and Statement II
are correct. _
(2) Both Statement I _anG
are incorrect. -
(3) Statement Fis
Statemep
(4) Statemiern
. is cofre

Broad pa P isible
in a pers om
(1) Down’s syndrome

2) 1 urner}s sy;!ldxr g r H. H'"'-.

3) inefelter’s s drome

@

' 183 Radial

phylum
(1) Ctenophy
(3) Coelenterz

184 In which blood..co

undergoes rephcatlon nd 1
viruses?

(1) Ty cells (2) B-lymphoey
(3) Basophils (4) Eosinophils

185 Which of the followmg is not a cloning

vector?

)) VBAC ' () YAC
(3) pBR322 (4) Probe

E1_English ]

Match Llst | w1th List IL
ListI List I1

. Logistic Unlimited resource
growth availability condition

. Exponential IL Limited resou:ll'ce' -
growth avgilability condition

The percent individuals

of pre-reproductive

. Expanding IIL
age pyramid ‘
- age is largest followed
by reproductive and
post reproductive
age groups
The percent individuals
ofpre-reproductives
and reproductive age
p'are same

r from the options

(1) AL B, CIII DIV
(2§ Ay, B, Ji‘:w
(3) A-IL_B-IV, C- 2
4

€L

I

: ents w1th référence
, J -dorsal sohd and
ord. -
Josed circulafoiy system.
iCe o1 paired pharyngeal gillslits.

Presence of dorsal heart

Triploblastic pseudocoelomate animals.

- Choose the correct answer from the optlonS

given below
(1) A,CandD only -
(2) Band C only

- () B,Dand E only
) _C, D and E only




188 The parts of humap brain that helps in

regulation .
ation of sexual behaviour, expression
of excitement ‘

: iement, pleasure, rage, fear etc. are :
(1) Limbic system & hypothalamus
(2) Corpora quadrigemina & hippocampus

(3) Brain stem & epithalamus
(4) Corpus callosum and thalamus .

. The um:que mammalian characteristics are:
(1) hairs, tympanic membrane and
mammary glands

189

(2) hairs, pinna and mammary glands
(3) hairs, pinna and indirect develops
(4) pinna, monocondylc

mammary glands

Wlﬁch of the follg
~control of thyrojd }

190
e?

A. Maintenance ‘and
balance |

B. Regula On etab

C. Norm I ep-w

D. Develgpme imune s |

E. Support the process 9f.|R-,B.-ICS, formation
~ Choose thé correct answer fr m{h_e c[ptio?‘is!
~ given bela : iy

(1) Aand I H .

(3) C andl D

Select the cp
A. Tetrad
Leptotene
During Anapr
and chromatid
Terminalizatie
Pachytene.
Nucleolus, Golgi comple
reformed during Telophase.
Crossing over takes place be
chromatids of
chromosome.

Choose the correct answer from the options

given below: = ‘
(1) A and C only

(2) B and D only
. (3) A, Cand E only
~ (4) B and E only

191

m Y o ®

en sister
homologous’

I

E1_English ] - 29

192 Match List T with List IL . .

194

. ListI List IT
A. Mastcells L Ciliated epithelium
B. Innersurface II. Areolar .
. of’bronchiole ‘connective tissue
~ C. Blood III. Cuboidal epithelium
 D. Tubularparts IV.  specialised
~ ofnephron connective tissue

Choose the correct answer from the options
.give below: B b b '
(1) ALBILCIV,D-IL. .
D AL, B-III, C-I, D-IV - -+ -
A-I[,"B-], C-IV, D’HI ‘,:
RIVSC-IT, D-1 B

owing is characteristic
h ‘regarding sexual
1S " 2 e
Darl
Pre
Pr
)‘, Pr

colot »d‘".an'al cerci
styl@&: % ° '
-t'

“Which one of the following is the sequence
on gd;}c_:s})hn@pgﬁgoli@nh_stra_ d, if the .
sequence on mRNA formed is as|follows
} MCTes e

SATCGATCG
L -
exCretion'is brought about by- -

7 gland B. Urecose gland
ephrocytes D. Fat 'ch‘i_y" _

By Collaterial glands

Choose the correct answer from the options

- given below:
- (1) Aand E only

(2) A, B and E only
(3) B,Cand Donly =
(4 BandDonly = =

" V:":[.?Contd;..' :




196 Given below are two statements

'Statemgnt I: During Gy phase of cell cycle,

~ the cell'is 'metabolically inactive.

: Statement II: Th
duplication during S phase of interphase.
In the light of the above statements, choose
the most appropnate answer from' the
‘optionﬂ!i'en below: "

(1) Both Statement I and Statement II
are correct.

(2) Both Statement I and Statemer
are incorrect.

3) Statement I i
Statement 1¥"

ccumuld(t"idf[) b HIT "1 takes ‘

*‘
prod ;

con

pWing

s of boad)

. ADH is responS1ble for deerease_i
- GFR,

Choose the correct answer - from the options '

given below:

(1) Aand Bonly
(2 B,Cand D only
(3) A,Band E only
@) C,D and E only

E1_English |

e centrosome undergoes |

lloWl ng statements are
eletal muscle?

are held together by

1S connectlve_ tissue layer

alled fasolcle ;
* Sarcoplasmic® reticulum of muscle fibre
is a storé house of calcmm lons

Strlated appe
fibre is due
.~ actin and myosi
ine is considered as functional unit
on called sarcomere.

arance of skeletal muscle
to distribution pattern of
n proteins. '

onteacti
208 approprmte answer from
n below: :

CLASSES

200 Which of the !oullawing statements are

F unda.r_it cells of
. stamine,lr serotonin
Y st ¥
involved in inflammatory
phils“have kidney shapéd nucleus
Phlls are agranulocytes” '

oose the correct answer from the options

1 glven below

.1 ik (1) Dand E only i

(2) Cand E only

(4) A and B only




DEAR NEET ASPIRANTS 2023,
| SEND MY WARMEST WISHES AND
ENCOURAGEMENT TO YOU AS YOU
PREPARE FOR THE UPCOMING EXAM.
REMEMBER TO STAY FOCUSED, STAY
MOTIVATED, AND TAKE CARE OF
YOURSELF THROUGHOUT THE
PROCESS. BELIEVE IN YOURSELF,
STAY POSITIVE, AND DON'T LET
SETBACKS HOLD YOU BACK. KEEP
WORKING HARD TOWARDS YOUR
GOALS, AND SUCCESS WILL SUR
BE YOURS. BEST OF LUCK!
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BEST WISHES TO ALL NEET
ASPIRANTS! MAY YOUR HARD
WORK, DETERMINATION AND
PERSEVERANCE PAY OFF,
AND MAY YOU ACHIEVE
SUCCESS IN YOUR
ENDEAVORS. REMEMBER TO
STAY FOCUSED, STAY
POSITIVE, AND BELIEVE IN
YOURSELF. YOU'VE GOT
THIS!
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